



About Extensions of Generalized Apostol-Type Polynomials

Pedro Hernández-Llanos, Yamilet Quintana
and Alejandro Urieles

Abstract. Under a slight modification on the parameters associated to the generalized Apostol-type polynomials and the use of the generating method, we obtain some new results concerning extensions of generalized Apostol-type polynomials. We state some algebraic and differential properties for a new class of extensions of generalized Apostol-type polynomials, as well as, some other identities which connect this polynomial class with the Stirling numbers of second kind, the Jacobi polynomials, the generalized Bernoulli polynomials, the Genocchi polynomials and the Apostol–Euler polynomials, respectively.

Mathematics Subject Classification. 11C08, 11M35, 11B65, 05A10, 33B99.

Keywords. Generalized Apostol-type polynomials, Apostol–Bernoulli polynomials of higher order, Apostol–Euler polynomials of higher order, Apostol–Genocchi polynomials of higher order, Stirling numbers of second kind.

1. Introduction

The generalized Apostol-type polynomials $\mathcal{F}_n^{(\alpha)}(x; \lambda; \mu; \nu)$ in the variable x , parameters $\lambda, \mu, \nu \in \mathbb{C}$ and order $\alpha \in \mathbb{C}$ [21, 27] are defined by means of the generating function

$$\left(\frac{2^\mu z^\nu}{\lambda e^z + 1} \right)^\alpha e^{xz} = \sum_{n=0}^{\infty} \mathcal{F}_n^{(\alpha)}(x; \lambda; \mu; \nu) \frac{z^n}{n!}, \quad (1)$$

where $|z| < 2\pi$ when $\lambda = 1$, $|z| < \pi$ when $\lambda = -1$, $|z| < |\log(-\lambda)|$ when $\lambda \in \mathbb{C} \setminus \{-1, 1\}$ and $1^\alpha := 1$.

This class of polynomials has been introduced recently in [27] and it provides a unification of another three families of polynomials, namely, Apostol–Bernoulli, Apostol–Euler and Apostol–Genocchi polynomials of order α , and hence, it also generalizes to the classical classes of Apostol, Bernoulli, Euler and Genocchi polynomials (cf. [1, 2, 4–6, 9, 14–28, 34–36, 39–44] and the references therein).

The seminal idea underlying both earlier as recent studies about the generalized Apostol-type polynomials has been to make appropriate modifications to the generating functions associated to the classical classes of Apostol, Bernoulli, Euler and Genocchi polynomials, respectively, and get similar algebraic and/or differential properties as these polynomials (see, for instance [5, 6, 9, 15–19, 22–28, 31, 35–37, 39–44]).

The interested reader may find recent literature which contains a large number of new and interesting properties involving these polynomials, for instance, four Special Issues entitled ‘Proceedings of the International Congress’ in Honour of Professor Hari M. Srivastava and published by the following SpringerOpen journals: *Boundary Value Problems*, *Fixed Point Theory and Applications* and *Journal of Inequalities and Applications* contain a broad information about new properties, applications in combinatorics, number theory, numerical analysis and new research trends about this class of polynomials and several of its subclasses (cf. [9, 13–15, 19, 21, 22, 32]).

An apart mention deserves the remarkable work [18] since it states a unification for generalized Apostol-type polynomials based on the definition of the Apostol–Bernoulli and Apostol–Euler polynomials of order α [34, 35] and the use of a generating function linked to the Mittag–Leffler function [7–9, 28]

$$E_{1,m+1}(z) := \frac{z^m}{e^z - \sum_{l=0}^{m-1} \frac{z^l}{l!}}, \quad m \in \mathbb{N}. \tag{2}$$

More precisely, the author in [18] introduces three new classes of generalized Apostol–Bernoulli polynomials, Apostol–Euler polynomials and Apostol–Genocchi polynomials with parameters $a, c \in \mathbb{R}^+$ by means of the following generating functions, defined in a suitable neighborhood of $z = 0$.

$$\left(\frac{z^m}{\lambda c^z - \sum_{l=0}^{m-1} \frac{(z \ln a)^l}{l!}} \right)^\alpha c^{xz} = \sum_{n=0}^\infty \mathfrak{B}_n^{[m-1, \alpha]}(x; c, a; \lambda) \frac{z^n}{n!}, \tag{3}$$

$$\left(\frac{2^m}{\lambda c^z + \sum_{l=0}^{m-1} \frac{(z \ln a)^l}{l!}} \right)^\alpha c^{xz} = \sum_{n=0}^\infty \mathfrak{E}_n^{[m-1, \alpha]}(x; c, a; \lambda) \frac{z^n}{n!}, \tag{4}$$

$$\left(\frac{(2z)^m}{\lambda c^z + \sum_{l=0}^{m-1} \frac{(z \ln a)^l}{l!}} \right)^\alpha c^{xz} = \sum_{n=0}^\infty \mathfrak{G}_n^{[m-1, \alpha]}(x; c, a; \lambda) \frac{z^n}{n!}. \tag{5}$$

In the sequel, we call the above polynomials generalized Apostol–Bernoulli polynomials, Apostol–Euler polynomials and Apostol–Genocchi polynomials in the variable x , parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level $m \in \mathbb{N}$, respectively. Furthermore, it is clear that the polynomials defined by (3)–(5) belong to some subclass of Apostol-type polynomials (1) when $m = 1$ and $c = \exp(1)$ [27], and, they belong to the class of Appell polynomials, for example, when $\alpha = 1$ and $c = \exp(1)$ [28].

In this paper we focus our attention on a light perturbation of the Mittag-Leffler function (2) by adding of five new parameters in order to define a new unification (which is different from aforementioned ones) of the generalized Apostol-type polynomials. So, we can prove that such new polynomial class preserves some similar algebraic and differential properties as the generalized Apostol-type polynomials and as an immediate consequence we recover many known algebraic and differential properties of such polynomials.

Our methods are analytic and based mainly on the recent developments done in [9, 18, 21, 27, 30]. However, the same scheme have been previously exploited by Srivastava, Todorov, Natalini, Bernardini, Bretti, Luo, Tremblay, Gaboury, Fugère, Pintér, Boyadzhiev, He, Wang, Kurt, Simsek, Liu, Ozden, Özarıslan, Garg, Choudhary, Choi and their collaborators (see for instance, [8, 9, 13, 15–17, 20, 22–26, 28]).

The paper is organized as follows. Section 2 contains the basic background about Apostol–Bernoulli, Apostol–Euler and Apostol–Genocchi polynomials in the variable x , parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level $m \in \mathbb{N}$, and some other auxiliary results which will be used throughout the paper. In Sect. 3, we define our unified presentation of the generalized Apostol-type polynomials and prove some relevant algebraic and differential properties of them, as well as, their relation with the Stirling numbers of second kind. Finally, the main results of Sect. 4, gathered in Theorems 2, 3, 4, and 5, show the corresponding relations between our unified presentation of the generalized Apostol-type polynomials and Jacobi polynomials, generalized Bernoulli polynomials, Genocchi polynomials and Apostol–Euler polynomials, respectively.

2. Background and Previous Results

Throughout this paper, we denote by \mathbb{N} , \mathbb{N}_0 , \mathbb{R} , \mathbb{R}^+ , and \mathbb{C} the sets of natural, nonnegative integer, real, positive real and complex numbers, respectively. For $\lambda \in \mathbb{C}$ and $k \in \mathbb{N}_0$, $(\lambda)_k$ denotes the rising factorial, i.e.,

$$(\lambda)_0 = 1 \quad \text{and} \quad (\lambda)_k = \lambda(\lambda + 1) \cdots (\lambda + k - 1).$$

Also, as usual, the numbers given by

$$\begin{aligned} \mathfrak{B}_n^{[m-1, \alpha]}(c, a; \lambda) &:= \mathfrak{B}_n^{[m-1, \alpha]}(0; c, a; \lambda), \\ \mathfrak{E}_n^{[m-1, \alpha]}(c, a; \lambda) &:= \mathfrak{E}_n^{[m-1, \alpha]}(0; c, a; \lambda), \\ \mathfrak{G}_n^{[m-1, \alpha]}(c, a; \lambda) &:= \mathfrak{G}_n^{[m-1, \alpha]}(0; c, a; \lambda), \end{aligned}$$

denote the corresponding Apostol–Bernoulli numbers, Apostol–Euler numbers and Apostol–Genocchi numbers with parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level $m \in \mathbb{N}$.

The following proposition summarizes some elementary properties of the generalized Apostol–Bernoulli polynomials, generalized Apostol–Euler polynomials and generalized Apostol–Genocchi polynomials with parameters λ, a, c , order α and level m , (cf. [18]).

Proposition 1. *For a fixed $m \in \mathbb{N}$, let $\{\mathfrak{B}_n^{[m-1,\alpha]}(x; c, a; \lambda)\}_{n \geq 0}$, $\{\mathfrak{E}_n^{[m-1,\alpha]}(x; c, a; \lambda)\}_{n \geq 0}$ and $\{\mathfrak{G}_n^{[m-1,\alpha]}(x; c, a; \lambda)\}_{n \geq 0}$ be the sequences of generalized Apostol–Bernoulli polynomials, generalized Apostol–Euler polynomials and generalized Apostol–Genocchi polynomials in the variable x , parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level m , respectively. Then the following statements hold.*

1. *Special values.* For every $n \in \mathbb{N}_0$,

$$\mathfrak{B}_n^{[m-1,0]}(x; c, a; \lambda) = \mathfrak{E}_n^{[m-1,0]}(x; c, a; \lambda) = \mathfrak{G}_n^{[m-1,0]}(x; c, a; \lambda) = (x \ln c)^n.$$

2. *Summation formulas.*

$$\begin{aligned} \mathfrak{B}_n^{[m-1,\alpha]}(x; c, a; \lambda) &= \sum_{k=0}^n \binom{n}{k} \mathfrak{B}_{n-k}^{[m-1,\alpha]}(c, a; \lambda) (x \ln c)^k, \\ &= \sum_{k=0}^n \binom{n}{k} \mathfrak{B}_{n-k}^{[m-1,\alpha-1]}(c, a; \lambda) \mathfrak{B}_k^{[m-1,1]}(x; c, a; \lambda), \\ \mathfrak{E}_n^{[m-1,\alpha]}(x; c, a; \lambda) &= \sum_{k=0}^n \binom{n}{k} \mathfrak{E}_{n-k}^{[m-1,\alpha]}(c, a; \lambda) (x \ln c)^k, \\ &= \sum_{k=0}^n \binom{n}{k} \mathfrak{E}_{n-k}^{[m-1,\alpha-1]}(c, a; \lambda) \mathfrak{E}_k^{[m-1,1]}(x; c, a; \lambda), \\ \mathfrak{G}_n^{[m-1,\alpha]}(x; c, a; \lambda) &= \sum_{k=0}^n \binom{n}{k} \mathfrak{G}_{n-k}^{[m-1,\alpha]}(c, a; \lambda) (x \ln c)^k, \\ &= \sum_{k=0}^n \binom{n}{k} \mathfrak{G}_{n-k}^{[m-1,\alpha-1]}(c, a; \lambda) \mathfrak{G}_k^{[m-1,1]}(x; c, a; \lambda) \end{aligned}$$

3. [18, Theorem 2, Corollary 1] *Difference equations.*

$$\begin{aligned} &\lambda \mathfrak{B}_n^{[m-1,\alpha]}(x+1; c, a; \lambda) - \mathfrak{B}_n^{[m-1,\alpha]}(x; c, a; \lambda) \\ &= n \sum_{k=0}^{n-1} \binom{n-1}{k} \mathfrak{B}_{n-k}^{[m-1,\alpha]}(x; c, a; \lambda) \mathfrak{B}_{n-k-1}^{[m-1,-1]}(x; c, a; \lambda), \\ &\lambda \mathfrak{E}_n^{[m-1,\alpha]}(x+1; c, a; \lambda) + \mathfrak{E}_n^{[m-1,\alpha]}(x; c, a; \lambda) \\ &= \sum_{k=0}^n \binom{n}{k} \mathfrak{E}_{n-k}^{[m-1,\alpha]}(x; c, a; \lambda) \mathfrak{E}_{n-k}^{[m-1,-1]}(x; c, a; \lambda). \end{aligned}$$

4. *Differential relations (Appell polynomial sequences).* For fixed $\alpha, \lambda, a, c, m \in \mathbb{N}$ and $n, j \in \mathbb{N}_0$ with $0 \leq j \leq n$, we have

$$\begin{aligned} [\mathfrak{B}_n^{[m-1, \alpha]}(x; c, a; \lambda)]^{(j)} &= \frac{n!}{(n-j)!} (\ln c)^j \mathfrak{B}_{n-j}^{[m-1, \alpha]}(x; c, a; \lambda), \\ [\mathfrak{E}_n^{[m-1, \alpha]}(x; c, a; \lambda)]^{(j)} &= \frac{n!}{(n-j)!} (\ln c)^j \mathfrak{E}_{n-j}^{[m-1, \alpha]}(x; c, a; \lambda), \\ [\mathfrak{G}_n^{[m-1, \alpha]}(x; c, a; \lambda)]^{(j)} &= \frac{n!}{(n-j)!} (\ln c)^j \mathfrak{G}_{n-j}^{[m-1, \alpha]}(x; c, a; \lambda). \end{aligned}$$

5. *Integral formulas.* For $m \in \mathbb{N}$ and fixed α, λ, a, c , we have

$$\begin{aligned} \int_{x_0}^{x_1} \mathfrak{B}_n^{[m-1, \alpha]}(x; c, a; \lambda) dx &= \frac{\ln c}{n+1} [\mathfrak{B}_{n+1}^{[m-1, \alpha]}(x_1; c, a; \lambda) \\ &\quad - \mathfrak{B}_{n+1}^{[m-1, \alpha]}(x_0; c, a; \lambda)] \\ &= \ln c \sum_{k=0}^n \frac{1}{n-k+1} \binom{n}{k} \mathfrak{B}_k^{[m-1, \alpha]}(c, a; \lambda) ((x_1 \ln c)^{n-k+1} - (x_0 \ln c)^{n-k+1}), \\ &\quad \times \int_{x_0}^{x_1} \mathfrak{E}_n^{[m-1, \alpha]}(x; c, a; \lambda) dx = \frac{\ln c}{n+1} [\mathfrak{E}_{n+1}^{[m-1, \alpha]}(x_1; c, a; \lambda) \\ &\quad - \mathfrak{E}_{n+1}^{[m-1, \alpha]}(x_0; c, a; \lambda)] \\ &= \ln c \sum_{k=0}^n \frac{1}{n-k+1} \binom{n}{k} \mathfrak{E}_k^{[m-1, \alpha]}(c, a; \lambda) ((x_1 \ln c)^{n-k+1} - (x_0 \ln c)^{n-k+1}), \\ &\quad \times \int_{x_0}^{x_1} \mathfrak{G}_n^{[m-1, \alpha]}(x; c, a; \lambda) dx = \frac{\ln c}{n+1} [\mathfrak{G}_{n+1}^{[m-1, \alpha]}(x_1; c, a; \lambda) \\ &\quad - \mathfrak{G}_{n+1}^{[m-1, \alpha]}(x_0; c, a; \lambda)] \\ &= \ln c \sum_{k=0}^n \frac{1}{n-k+1} \binom{n}{k} \mathfrak{G}_k^{[m-1, \alpha]}(c, a; \lambda) ((x_1 \ln c)^{n-k+1} - (x_0 \ln c)^{n-k+1}), \end{aligned}$$

6. [18, Theorem 1] *Addition theorem of the argument.* For $\alpha, \beta \in \mathbb{C}, c \in \mathbb{R}^+$ and $m \in \mathbb{N}$, we have

$$\begin{aligned} \mathfrak{B}_n^{[m-1, \alpha+\beta]}(x+y; c, a; \lambda) &= \sum_{k=0}^n \binom{n}{k} \mathfrak{B}_{n-k}^{[m-1, \alpha]}(x; c, a; \lambda) \mathfrak{B}_{n-k}^{[m-1, \beta]}(y; c, a; \lambda), \\ \mathfrak{E}_n^{[m-1, \alpha+\beta]}(x+y; c, a; \lambda) &= \sum_{k=0}^n \binom{n}{k} \mathfrak{E}_{n-k}^{[m-1, \alpha]}(x; c, a; \lambda) \mathfrak{E}_{n-k}^{[m-1, \beta]}(y; c, a; \lambda), \\ \mathfrak{G}_n^{[m-1, \alpha+\beta]}(x+y; c, a; \lambda) &= \sum_{k=0}^n \binom{n}{k} \mathfrak{G}_{n-k}^{[m-1, \alpha]}(x; c, a; \lambda) \mathfrak{G}_{n-k}^{[m-1, \beta]}(y; c, a; \lambda). \end{aligned}$$

In the table below, we introduce the standard notation for several subclasses of generalized Apostol–Bernoulli polynomials, Apostol–Euler polynomials and Apostol–Genocchi polynomials with parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level $m \in \mathbb{N}$, (cf. [1, 2, 5, 8, 9, 13–31, 34–37, 39, 41–44]).

n -th generalized Bernoulli polynomial of level m	$B_n^{[m-1]}(x) := \mathfrak{B}_n^{[m-1,1]}(x; e, e; 1)$
n -th generalized Apostol–Bernoulli polynomial	$B_n^{(\alpha)}(x; \lambda) := \mathfrak{B}_n^{[0,\alpha]}(x; e, a; \lambda)$
n -th generalized Apostol–Euler polynomial	$\mathcal{E}_n^{(\alpha)}(x; \lambda) := \mathfrak{E}_n^{[0,\alpha]}(x; e, a; \lambda)$
n -th generalized Apostol–Genocchi polynomial	$\mathcal{G}_n^{(\alpha)}(x; \lambda) := \mathfrak{G}_n^{[0,\alpha]}(x; e, a; \lambda)$
n -th Apostol–Bernoulli polynomial	$B_n(x; \lambda) := B_n^{(1)}(x; \lambda)$
n -th Apostol–Euler polynomial	$\mathcal{E}_n(x; \lambda) := \mathcal{E}_n^{(1)}(x; \lambda)$
n -th Apostol–Genocchi polynomial	$\mathcal{G}_n(x; \lambda) := \mathcal{G}_n^{(1)}(x; \lambda)$
n -th generalized Bernoulli polynomial	$B_n^{(\alpha)}(x) := B_n^{(\alpha)}(x; 1)$
n -th generalized Euler polynomial	$E_n^{(\alpha)}(x) := \mathcal{E}_n^{(\alpha)}(x; 1)$
n -th generalized Genocchi polynomial	$G_n^{(\alpha)}(x) := \mathcal{G}_n^{(\alpha)}(x; 1)$
n -th Bernoulli polynomial	$B_n(x) := B_n^{(1)}(x)$
n -th Euler polynomial	$E_n(x) := E_n^{(1)}(x)$
n -th Genocchi polynomial	$G_n(x) := G_n^{(1)}(x)$

Finally, we recall the definitions of the Stirling numbers of second kind and the Jacobi polynomials of parameters $\alpha, \beta > -1$. Also, we present some well-known identities satisfied by these polynomials and certain families of polynomials mentioned above, which we need in the next sections.

Definition 1 ([10, p. 207, Theorem B]). For $n \in \mathbb{N}_0$ and $x \in \mathbb{C}$, the Stirling numbers of second kind $S(n, k)$ are defined by means of the following expansion

$$x^n = \sum_{k=0}^n \binom{x}{k} k! S(n, k), \tag{6}$$

so that $S(n, 0) = \delta_{n,0}$, $S(n, 1) = S(n, n) = 1$ and $S(n, n - 1) = \binom{n}{2}$.

For $n \in \mathbb{N}_0$ and $\kappa, \beta > -1$, the n -th Jacobi polynomial $P_n^{(\kappa,\beta)}(x)$ may be defined by means of Rodrigues’ formula

$$P_n^{(\kappa,\beta)}(x) = (1-x)^{-\kappa} (1+x)^{-\beta} \frac{(-1)^n}{2^n n!} \frac{d^n}{dx^n} \{ (1-x)^{n+\kappa} (1+x)^{n+\beta} \},$$

$$x \in \mathbb{C} \setminus \{-1, 1\}, \tag{7}$$

and the value at $x = \pm 1$ is given by

$$P_n^{(\kappa,\beta)}(1) = \binom{n + \kappa}{n}, \quad P_n^{(\kappa,\beta)}(-1) = (-1)^n \binom{n + \beta}{n}.$$

There are many equivalent definitions of $P_n^{(\kappa,\beta)}(x)$, for instance, its expression as a ${}_2F_1$ hypergeometric function is very well-known in the literature (see [3, 33, 38]). The connection between the n -th monomial x^n and the n -th Jacobi polynomial $P_n^{(\kappa,\beta)}(x)$ may be written as follows (see [33, Equation (2), p. 262]).

$$x^n = n! \sum_{k=0}^n \binom{n+\kappa}{n-k} (-1)^k \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{n+1}} P_k^{(\kappa,\beta)}(1-2x). \tag{8}$$

Proposition 2. For $\lambda \in \mathbb{C}$ and a fixed $m \in \mathbb{N}$. Let $\{B_n^{[m-1]}(x)\}_{n \geq 0}$, $\{G_n(x)\}_{n \geq 0}$ and $\{\mathcal{E}_n(x; \lambda)\}_{n \geq 0}$ be the sequences of generalized Bernoulli polynomials of level m , Genocchi polynomials and Apostol–Euler polynomials, respectively. Then, the following identities are satisfied.

1. [28, Equation (2.6)].

$$x^n = \sum_{k=0}^n \binom{n}{k} \frac{k!}{(k+m)!} B_{n-k}^{[m-1]}(x), \tag{9}$$

2. [24, Remark 7].

$$x^n = \frac{1}{2(n+1)} \left[\sum_{k=0}^{n+1} \binom{n+1}{k} G_k(x) + G_{n+1}(x) \right], \tag{10}$$

3. [26, Equation (31)].

$$x^n = \frac{1}{2} \left[\lambda \sum_{k=0}^n \binom{n}{k} \mathcal{E}_k(x; \lambda) + \mathcal{E}_n(x; \lambda) \right]. \tag{11}$$

3. The Polynomials $\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$ and Their Properties

In view of the results in Sect. 2 and following the same methodology given in [27, 30] we focus our attention on new unified presentations of the generalized Apostol-type polynomials. More precisely, based on (1), (2) and (3)–(5) we consider the following Mittag–Leffler type function

$$E_{1,m+1}^{(c,a;\lambda;\mu;\nu)}(z) := \frac{(2^\mu z^\nu)^m}{\lambda c^z + \sum_{l=0}^{m-1} \frac{(z \ln a)^l}{l!}}, \quad m \in \mathbb{N}, a, c \in \mathbb{R}^+, \lambda, \mu, \nu \in \mathbb{C}. \tag{12}$$

The reason for perturbing the genuine Mittag–Leffler function (2) with the parameters $a, c\lambda, \mu$ and ν is purely technical and allows us to introduce a unified presentation of the generalized Apostol-type polynomials (1) and the generalized Apostol–Bernoulli polynomials, Apostol–Euler polynomials and Apostol–Genocchi polynomials in the variable x , parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level $m \in \mathbb{N}$, (3)–(5) (cf. [18, 21, 27]).

Definition 2. For $m \in \mathbb{N}$, $\alpha, \lambda, \mu, \nu \in \mathbb{C}$ and $a, c \in \mathbb{R}^+$, the generalized Apostol-type polynomials in the variable x , parameters c, a, λ, μ, ν , order α and level m , are defined by means of the following generating function.

$$(E_{1,m+1}^{(c,a;\lambda;\mu;\nu)}(z))^\alpha e^{xz} = \sum_{n=0}^\infty Q_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu) \frac{z^n}{n!}, \tag{13}$$

where $|z| < 2\pi$ when $\lambda = 1$, $|z| < \pi$ when $\lambda = -1$, $(|z \ln(\frac{c}{a})| < |\log(-\lambda)|)$ when $\lambda \in \mathbb{C} \setminus \{-1, 1\}$, and $1^\alpha := 1$.

Remark 1. It is worthwhile to recall that in order to ensure that the generating function in (13) is analytic throughout the prescribed open disks in the complex z -plane (centered at the origin $z = 0$), and consequently, to get the convergence of the corresponding Taylor–Maclaurin series expansions we need to impose the above constraint on $|z|$. In a similar way as [27, Remark 1], is tacitly assumed that the exceptional cases $\lambda = \pm 1$ are to be treated separately and the corresponding constraints on $|z|$ should be modified accordingly (see [27] and the references therein).

The numbers given by

$$Q_n^{[m-1,\alpha]}(c, a; \lambda; \mu; \nu) := Q_n^{[m-1,\alpha]}(0; c, a; \lambda; \mu; \nu), \tag{14}$$

denote the corresponding unified presentation of the generalized Apostol-type numbers of parameters $\lambda \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level $m \in \mathbb{N}$.

By comparing Definition 2 with (1) and (3)–(5) with $e = \exp(1)$, we have

$$(-1)^\alpha Q_n^{[m-1,\alpha]}(x; c, a; -\lambda; 0; 1) = \mathfrak{B}_n^{[m-1,\alpha]}(x; c, a; \lambda), \tag{15}$$

$$Q_n^{[m-1,\alpha]}(x; c, a; \lambda; 1; 0) = \mathfrak{C}_n^{[m-1,\alpha]}(x; c, a; \lambda), \tag{16}$$

$$Q_n^{[m-1,\alpha]}(x; c, a; \lambda; 1; 1) = \mathfrak{G}_n^{[m-1,\alpha]}(x; c, a; \lambda), \tag{17}$$

$$Q_n^{[0,\alpha]}(x; e, 1; \lambda; \mu; \nu) = \mathcal{F}_n^{(\alpha)}(x; \lambda; \mu; \nu). \tag{18}$$

Consequently, from the relations (15)–(16) we have that the generating function of $Q_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$ in (13) includes, as its special cases, not only the generating function of the generalized Apostol-type polynomials $\mathcal{F}_n^{(\alpha)}(x; \lambda; \mu; \nu)$ in (1) and the generating functions investigated by Ozden et al. (cf. [30, p. 2779, Equation (1.1)] and [27, p. 5726, Equation (175)]), and indeed also the generating functions of $\mathfrak{B}_n^{[m-1,\alpha]}(x; c, a; \lambda)$, $\mathfrak{C}_n^{[m-1,\alpha]}(x; c, a; \lambda)$, $\mathfrak{G}_n^{[m-1,\alpha]}(x; c, a; \lambda)$ and their corresponding special cases (cf. [1, 2, 5, 8, 9, 13–24, 28, 31, 34–36, 39–44]).

Under the appropriate choice on the parameters, level and order, it is possible to provide some illustrative examples (with the help of MAPLE) which show that exist polynomials $Q_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$ different from the polynomials given by (1) and (3)–(5).

Example 1. For any $\lambda \in \mathbb{C} \setminus \{-1, 1\}$, $m = 4$, $c = 2$, $a = 3$, $\alpha = 1$, $\mu = 2$ and $\nu = 5$, the first generalized Apostol–Bernoulli polynomials and generalized Apostol-type polynomials of level m are:

$$\begin{aligned} \mathfrak{B}_j^{[3,1]}(x; 2, 3; \lambda) &= 0, \quad j = 0, 1, 2, 3, \\ \mathfrak{B}_4^{[3,1]}(x; 2, 3; \lambda) &= \frac{24}{\lambda - 1}, \\ \mathfrak{B}_5^{[3,1]}(x; 2, 3; \lambda) &= \frac{120[\ln(2)x\lambda - \ln(2)x - \lambda \ln(2) + \ln(3)]}{(\lambda - 1)^2}. \end{aligned}$$

$$\begin{aligned} \mathcal{Q}_j^{[3,1]}(x; 2, 3; \lambda; 2; 5) &= 0, \quad j = 0, 1, 2, 3, 4, \\ \mathcal{Q}_5^{[3,1]}(x; 2, 3; \lambda; 2; 5) &= 640 \mathfrak{B}_4^{[3,1]}(x; 2, 3; \lambda), \\ \mathcal{Q}_6^{[3,1]}(x; 2, 3; \lambda; 2; 5) &= 3(2^8) \mathfrak{B}_5^{[3,1]}(x; 2, 3; \lambda). \end{aligned}$$

Example 2. For any $\lambda \in \mathbb{C} \setminus \{-1, 1\}$, $m = 3$, $c = e$, $a = 3$, $\alpha = \sqrt{2}$, $\mu = \nu = 4$, the first generalized Apostol–Euler polynomials and generalized Apostol-type polynomials of level m are:

$$\begin{aligned} \mathfrak{E}_0^{[2, \sqrt{2}]}(x; e, 3; \lambda) &= \left(\frac{8}{\lambda + 1}\right)^{\sqrt{2}}, \\ \mathfrak{E}_1^{[2, \sqrt{2}]}(x; e, 3; \lambda) &= \frac{8\sqrt{2}}{(\lambda + 1)^{1+\sqrt{2}}} [x\lambda + x - \sqrt{2}\lambda - \sqrt{2}\ln(3)], \\ \mathfrak{E}_2^{[2, \sqrt{2}]}(x; e, 3; \lambda) &= \frac{8\sqrt{2}}{(\lambda + 1)^{2+\sqrt{2}}} [(\lambda + 1)^2 x^2 - 2\sqrt{2}(\lambda + 1)(\lambda + \ln(3))x \\ &\quad - 2\sqrt{2}\lambda(1 - \ln(3))^2 + 2(\lambda + \ln(3))^2], \\ \mathfrak{E}_3^{[2, \sqrt{2}]}(x; e, 3; \lambda) &= \frac{8\sqrt{2}}{(\lambda + 1)^{3+\sqrt{2}}} [(\lambda + 1)^3 x^3 - 3\sqrt{2}(\lambda + 1)^2(\ln(3) + \lambda)x^2 \\ &\quad - 3(\lambda + 1)(-2\lambda^2 - 2\lambda \ln(3)\sqrt{2} + \sqrt{2}\lambda \\ &\quad + \sqrt{2}(\ln(3))^2\lambda - 4\ln(3)\lambda - 2(\ln(3))^2)x + 6\lambda^2 \\ &\quad + 3(\ln(3)^3\lambda\sqrt{2} + 6(\ln(3))^3\lambda + \lambda^2\sqrt{2} \\ &\quad - 9\sqrt{2}(\ln(3))^2\lambda + 3\lambda \ln(3)\sqrt{2} - 2\lambda^3\sqrt{2} \\ &\quad + 6\ln(3)\lambda - 12(\ln(3))^2\lambda - 12\lambda^2 \ln(3) - 9\lambda^2 \ln(3)\sqrt{2} \\ &\quad + 3(\ln(3))^2\lambda^2\sqrt{2} - (\ln(3))^3\sqrt{2} + 6(\ln(3))^2\lambda^2 - \sqrt{2}\lambda]. \end{aligned}$$

$$\mathcal{Q}_j^{[2, \sqrt{2}]}(x; e, 3; \lambda; 4; 4) = 2^{\frac{5}{2}} \mathfrak{E}_j^{[2, \sqrt{2}]}(x; e, 3; \lambda), \quad j = 0, 1, 2, 3.$$

Example 3. For any $\lambda \in \mathbb{C} \setminus \{-1, 1\}$, $m = 2$, $c = 3$, $a = e$, $\alpha = \frac{1}{3}$, $\mu = 5$ and $\nu = 4$, the first generalized Apostol–Genocchi polynomials and generalized

Apostol-type polynomials of level m are:

$$\begin{aligned} \mathfrak{G}_0^{[1, \frac{1}{3}]}(x; 3, e; \lambda) &= \left(\frac{4}{\lambda + 1} \right)^{\frac{1}{3}}, \\ \mathfrak{G}_1^{[1, \frac{1}{3}]}(x; 3, e; \lambda) &= \frac{2^{\frac{2}{3}}}{3(\lambda + 1)^{1 + \frac{1}{3}}} [3 \ln(3)(\lambda + 1)x - \ln(3)\lambda - 1], \\ \mathfrak{G}_2^{[1, \frac{1}{3}]}(x; 3, e; \lambda) &= \frac{2^{\frac{2}{3}}}{9(\lambda + 1)^{2 + \frac{1}{3}}} [9(\ln(3))^2(\lambda + 1)^2 x^2 - 6 \ln(3) \\ &\quad \times (\lambda + 1)(\ln(3)\lambda + 1)x - 3(\ln(3))^2 \lambda \\ &\quad + 8 \ln(3)\lambda + 4 + (\ln(3))^2 \lambda^2], \\ \mathfrak{G}_3^{[1, \frac{1}{3}]}(x; 3, e; \lambda) &= \frac{2^{\frac{2}{3}}}{27(\lambda + 1)^{3 + \frac{1}{3}}} [27(\ln(3))^3(\lambda + 1)^3 x^3 - 27(\ln(3))^2 \\ &\quad \times (\lambda + 1)^2 (\ln(3)\lambda + 1)x^2 \\ &\quad + 9 \ln(3)(\lambda + 1)(-3(\ln(3))^2 \lambda + 8 \ln(3)\lambda + 4 \\ &\quad + (\ln(3))^2 \lambda^2)x - (\ln(3))^3 \lambda^3 \\ &\quad + 18(\ln(3))^3 \lambda^2 - 9(\ln(3))^3 \lambda - 48(\ln(3))^2 \lambda^2 \\ &\quad + 36(\ln(3))^2 \lambda - 84 \ln(3)\lambda - 28], \\ \mathfrak{G}_4^{[1, \frac{1}{3}]}(x; 3, e; \lambda) &= \frac{2^{\frac{2}{3}}}{81(\lambda + 1)^{4 + \frac{1}{3}}} \{81(\ln(3))^4(\lambda + 1)^4 x^4 - 108(\ln(3))^3 \\ &\quad \times (\lambda + 1)^3 (\ln(3)\lambda + 1)x^3 \\ &\quad + 54(\ln(3))^2(\lambda + 1)^2(-3(\ln(3))^2 \lambda + 8 \ln(3)\lambda \\ &\quad + 4 + (\ln(3))^2 \lambda^2)x^2 \\ &\quad - 12 \ln(3)(\lambda + 1)[(\ln(3))^3 \lambda^3 - 18(\ln(3))^3 \lambda^2 \\ &\quad + 48(\ln(3))^2 \lambda^2 + 9(\ln(3))^3 \lambda \\ &\quad + 84 \ln(3)\lambda - 36(\ln(3))^2 \lambda + 28]x + 280 \\ &\quad - 81(\ln(3))^4 \lambda^3 + 1176(\ln(3))^2 \lambda^2 \\ &\quad + 1120 \ln(3)\lambda - 504(\ln(3))^2 \lambda + 144(\ln(3))^3 \lambda \\ &\quad - 27(\ln(3))^4 \lambda + (\ln(3))^4 \lambda^4 \\ &\quad - 720(\ln(3))^3 \lambda^2 + 171(\ln(3))^4 \lambda^2 + 256(\ln(3))^3 \lambda^3\}. \\ \mathcal{Q}_0^{[1, \frac{1}{3}]}(x; 3, e; \lambda; 5; 4) &= 0, \\ \mathcal{Q}_1^{[1, \frac{1}{3}]}(x; 3, e; \lambda; 5; 4) &= 2^{\frac{5}{3}} \mathfrak{G}_0^{[1, \frac{1}{3}]}(x; 3, e; \lambda), \\ \mathcal{Q}_2^{[1, \frac{1}{3}]}(x; 3, e; \lambda; 5; 4) &= 2^{\frac{8}{3}} \mathfrak{G}_1^{[1, \frac{1}{3}]}(x; 3, e; \lambda), \\ \mathcal{Q}_3^{[1, \frac{1}{3}]}(x; 3, e; \lambda; 5; 4) &= 12^{\sqrt[3]{4}} \mathfrak{G}_2^{[1, \frac{1}{3}]}(x; 3, e; \lambda), \\ \mathcal{Q}_4^{[1, \frac{1}{3}]}(x; 3, e; \lambda; 5; 4) &= \frac{2^{\frac{17}{3}}}{27} \mathfrak{G}_3^{[1, \frac{1}{3}]}(x; 3, e; \lambda). \end{aligned}$$

Example 4. For any $\lambda \in \mathbb{C} \setminus \{-1, 1\}$, $m = 2$, $c = 2$, $a = 3$, $\alpha = \frac{1}{2}$, $\mu = 2$ and $\nu = 5$, the first Apostol-type polynomials and generalized Apostol-type polynomials of level m are:

$$\begin{aligned} \mathcal{F}_j^{(\frac{1}{2})}(x; \lambda; 2; 5) &= 0, \quad j = 0, 1, \\ \mathcal{F}_2^{(\frac{1}{2})}(x; \lambda; 2; 5) &= \frac{32}{\sqrt{1 + \lambda}}, \\ \mathcal{F}_3^{(\frac{1}{2})}(x; \lambda; 2; 5) &= \frac{48}{(1 + \lambda)^{1 + \frac{1}{2}}}(2(\lambda + 1)x - \lambda), \\ \mathcal{F}_4^{(\frac{1}{2})}(x; \lambda; 2; 5) &= \frac{48}{(1 + \lambda)^{2 + \frac{1}{2}}}[4(\lambda + 1)^2x^2 - 4\lambda(\lambda + 1)x - \lambda(2 - \lambda)]. \end{aligned}$$

$$\begin{aligned} \mathcal{Q}_j^{[1, (\frac{1}{2})]}(x; 2, 3; \lambda; 2; 5) &= 0, \quad j = 0, 1, \\ \mathcal{Q}_2^{[1, (\frac{1}{2})]}(x; 2, 3; \lambda; 2; 5) &= \mathcal{F}_2^{(\frac{1}{2})}(x; \lambda; 2; 5), \\ \mathcal{Q}_3^{[1, (\frac{1}{2})]}(x; 2, 3; \lambda; 2; 5) &= \frac{48}{(1 + \lambda)^{1 + \frac{1}{2}}}[2 \ln(2)(\lambda + 1)x - \ln(2)\lambda - \ln(3)], \\ \mathcal{Q}_4^{[1, (\frac{1}{2})]}(x; 2, 3; \lambda; 2; 5) &= \frac{2}{(1 + \lambda)^{2 + \frac{1}{2}}}[4(\ln(2))^2(\lambda + 1)^2x^2 \\ &\quad - 4 \ln(2)(\lambda + 1)(\ln(2)\lambda + \ln(3))x \\ &\quad - 2(\ln(2))^2\lambda + 6 \ln(2)\lambda \ln(3) + 3(\ln(3))^2 \\ &\quad + (\ln(2))^2\lambda^2]. \end{aligned}$$

The following theorem summarizes some elementary properties of the polynomials $\mathcal{Q}_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu)$, which are a straightforward consequence of (13). Therefore, we will omit the details of its proof.

Theorem 1. For a fixed $m \in \mathbb{N}$, let $\{\mathcal{Q}_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu)\}_{n \geq 0}$ be the sequence of generalized Apostol-type polynomials in the variable x , parameters $\lambda, \mu, \nu \in \mathbb{C}$, $a, c \in \mathbb{R}^+$, order $\alpha \in \mathbb{C}$ and level m . Then the following statements hold.

1. *Special values.* For every $n \in \mathbb{N}_0$,

$$\mathcal{Q}_n^{[m-1, 0]}(x; c, a; \lambda; \mu; \nu) = (x \ln c)^n. \tag{19}$$

2. *Summation formulas.*

$$\begin{aligned} \mathcal{Q}_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu) &= \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_{n-k}^{[m-1, \alpha]}(c, a; \lambda; \mu; \nu)(x \ln c)^k, \tag{20} \\ \mathcal{Q}_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu) &= \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_{n-k}^{[m-1, \alpha-1]}(c, a; \lambda; \mu; \nu) \\ &\quad \times \mathcal{Q}_k^{[m-1, 1]}(x; c, a; \lambda; \mu; \nu). \tag{21} \end{aligned}$$

3. *Differential relations (Appell polynomial sequences).* For $m \in \mathbb{N}$, fixed α, λ, a, c , and $n, j \in \mathbb{N}_0$ with $0 \leq j \leq n$, we have

$$[\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)]^{(j)} = \frac{n!}{(n-j)!} (\ln c)^j \mathcal{Q}_{n-j}^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu). \tag{22}$$

4. *Difference equations.* For $m \in \mathbb{N}$, fixed $\alpha, \lambda, a, c, \mu, \nu$. If $a = c$ and $\nu \in \mathbb{N}_0$, we have

$$\begin{aligned} \lambda \mathcal{Q}_n^{[m-1,\alpha]}(x+1; c, c; \lambda; \mu; \nu) + \sum_{l=0}^{m-1} \frac{1}{l!} [\mathcal{Q}_n^{[m-1,\alpha]}(x; c, c; \lambda; \mu; \nu)]^{(l)} \\ = \frac{2^{\mu m}}{(\ln c)^{\nu m}} [\mathcal{Q}_n^{[m-1,\alpha-1]}(x; c, c; \lambda; \mu; \nu)]^{(\nu m)}. \end{aligned}$$

5. *Integral formulas.* For fixed α, λ, a, c and $m \in \mathbb{N}$, we have

$$\begin{aligned} \int_{x_0}^{x_1} \mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu) dx &= \frac{\ln c}{n+1} [\mathcal{Q}_{n+1}^{[m-1,\alpha]}(x_1; c, a; \lambda; \mu; \nu) \\ &\quad - \mathcal{Q}_{n+1}^{[m-1,\alpha]}(x_0; c, a; \lambda; \mu; \nu)] \\ &= \ln c \sum_{k=0}^n \frac{1}{n-k+1} \binom{n}{k} \mathcal{Q}_k^{[m-1,\alpha]} \\ &\quad \times (c, a; \lambda; \mu; \nu) ((x_1 \ln c)^{n-k+1} \\ &\quad - (x_0 \ln c)^{n-k+1}). \end{aligned}$$

6. *Addition theorem of the argument.*

$$\begin{aligned} \mathcal{Q}_n^{[m-1,\alpha+\beta]}(x+y; c, a; \lambda; \mu; \nu) &= \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_k^{[m-1,\alpha]} \\ &\quad \times (x; c, a; \lambda; \mu; \nu) \mathcal{Q}_{n-k}^{[m-1,\beta]}(y; c, a; \lambda; \mu; \nu), \end{aligned} \tag{23}$$

$$\mathcal{Q}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) = \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_{n-k}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (x \ln c)^k. \tag{24}$$

The use of the Stirling numbers of second kind (6) and a straightforward calculation involving binomial coefficient identities [2, 3, 10–12, 33, 45], allows us to get an alternative representation for a particular case of (23) as follows.

Proposition 3. For $m \in \mathbb{N}$, $\alpha, \lambda, \mu, \nu \in \mathbb{C}$, $a, c \in \mathbb{R}^+$ and $n \in \mathbb{N}_0$, we have

$$\begin{aligned} \mathcal{Q}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) &= \sum_{k=0}^n k! \binom{x}{k} \sum_{j=0}^{n-k} \binom{n}{j} \mathcal{Q}_j^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \\ &\quad \times (\ln c)^{n-j} S(n-j, k) \end{aligned}$$

$$\begin{aligned}
 &= \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{n-j} \mathcal{Q}_{n-j}^{[m-1, \alpha]} \\
 &\quad \times (y; c, a; \lambda; \mu; \nu) (\ln c)^j S(j, k). \tag{25}
 \end{aligned}$$

Consequently, taking into account the relations (15)–(16) and making the corresponding modifications in (25), we get

Corollary 1. *For $m \in \mathbb{N}$, the generalized Apostol–Bernoulli polynomials, generalized Apostol–Euler polynomials and generalized Apostol–Genocchi polynomials with parameters λ, a, c , order α and level m are related with the Stirling numbers of second kind by means of the following identities.*

$$\mathfrak{B}_n^{[m-1, \alpha]}(x + y; c, a; \lambda) = \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{j} \mathfrak{B}_{n-j}^{[m-1, \alpha]}(y; c, a; \lambda) (\ln c)^j S(j, k). \tag{26}$$

$$\mathfrak{E}_n^{[m-1, \alpha]}(x + y; c, a; \lambda) = \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{j} \mathfrak{E}_{n-j}^{[m-1, \alpha]}(y; c, a; \lambda) (\ln c)^j S(j, k). \tag{27}$$

$$\mathfrak{G}_n^{[m-1, \alpha]}(x + y; c, a; \lambda) = \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{j} \mathfrak{G}_{n-j}^{[m-1, \alpha]}(y; c, a; \lambda) (\ln c)^j S(j, k). \tag{28}$$

Remark 2. The substitution $a = 1, c = e$ into (26)–(28) yields the identities

$$\mathfrak{B}_n^{[m-1, \alpha]}(x + y; \lambda) = \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{j} \mathfrak{B}_{n-j}^{[m-1, \alpha]}(y; \lambda) S(j, k), \tag{29}$$

$$\mathfrak{E}_n^{[m-1, \alpha]}(x + y; \lambda) = \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{j} \mathfrak{E}_{n-j}^{[m-1, \alpha]}(y; \lambda) S(j, k), \tag{30}$$

$$\mathfrak{G}_n^{[m-1, \alpha]}(x + y; \lambda) = \sum_{k=0}^n k! \binom{x}{k} \sum_{j=k}^n \binom{n}{j} \mathfrak{G}_{n-j}^{[m-1, \mu]}(y; \lambda) S(j, k). \tag{31}$$

Remark 3. Notice that (30) is just [9, Equation (4.3)]. If $m = 1$ in (29) and (30) then we recover [26, Equations (75), (76)], respectively.

4. Some Connection Formulas for the Polynomials

$$\mathcal{Q}_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu)$$

From the identity (8) and Proposition 2 it is possible to deduce some interesting algebraic relations connecting the polynomials $\mathcal{Q}_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu)$ and other families of polynomials such as Jacobi polynomials, generalized Bernoulli

polynomials of level m , Genocchi polynomials and Apostol–Euler polynomials. In this section, we will prove these relations following the ideas of [9].

Theorem 2. *For $m \in \mathbb{N}$, the generalized Apostol-type polynomials of level m $\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$, are related with the Jacobi polynomials $P_n^{(\kappa,\beta)}(x)$, by means of the following identity.*

$$\begin{aligned} \mathcal{Q}_n^{[m-1,\alpha]}(x + y; c, a; \lambda; \mu; \nu) &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j + \kappa}{j - k} \binom{n}{j} \\ &\times \frac{(1 + \kappa + \beta + 2k)}{(1 + \kappa + \beta + k)_{j+1}} \mathcal{Q}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) P_k^{(\kappa,\beta)}(1 - 2x). \end{aligned} \tag{32}$$

Proof. We can proceed as the proof of [9, Theorem 4.4]. By substituting (8) into the right-hand side of (24) and using appropriate binomial coefficient identities (see, for instance [3, 10, 12]), we see that

$$\begin{aligned} &\mathcal{Q}_n^{[m-1,\alpha]}(x + y; c, a; \lambda; \mu; \nu) \\ &= \sum_{j=0}^n \binom{n}{j} \mathcal{Q}_j^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (n - j)! (\ln c)^{n-j} \sum_{k=0}^{n-j} (-1)^k \binom{n - j + \kappa}{n - j - k} \\ &\times \frac{(1 + \kappa + \beta + 2k)}{(1 + \kappa + \beta + k)_{n-j+1}} P_k^{(\kappa,\beta)}(1 - 2x) \\ &= \sum_{j=0}^n \sum_{k=0}^{n-j} \binom{n}{j} \mathcal{Q}_j^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (n - j)! (\ln c)^{n-j} (-1)^k \binom{n - j + \kappa}{n - j - k} \\ &\times \frac{(1 + \kappa + \beta + 2k)}{(1 + \kappa + \beta + k)_{n-j+1}} P_k^{(\kappa,\beta)}(1 - 2x) \\ &= \sum_{k=0}^n (-1)^k \sum_{j=0}^{n-k} \binom{n}{j} \binom{n - j + \kappa}{n - j - k} \mathcal{Q}_j^{[m-1,\mu]}(y; c, a; \lambda; \mu; \nu) (n - j)! (\ln c)^{n-j} \\ &\times \frac{(1 + \kappa + \beta + 2k)}{(1 + \kappa + \beta + k)_{n-j+1}} P_k^{(\kappa,\beta)}(1 - 2x) \\ &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j + \kappa}{j - k} \binom{n}{j} \frac{(1 + \kappa + \beta + 2k)}{(1 + \kappa + \beta + k)_{j+1}} \\ &\times \mathcal{Q}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) P_k^{(\kappa,\beta)}(1 - 2x). \end{aligned}$$

Therefore, (32) holds. □

Consequently, taking into account the relations (15)–(16) and making the corresponding modifications in (32), we get

Corollary 2. *For $m \in \mathbb{N}$, the generalized Apostol–Bernoulli polynomials, generalized Apostol–Euler polynomials and generalized Apostol–Genocchi polynomials with parameters λ, a, c , order α and level m are related with the Jacobi*

polynomials by means of the following identities.

$$\begin{aligned} & \mathfrak{B}_n^{[m-1,\alpha]}(x+y; c, a; \lambda) \\ &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \mathfrak{B}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda) \\ & \quad \times P_k^{(\kappa,\beta)}(1-2x). \end{aligned} \tag{33}$$

$$\begin{aligned} & \mathfrak{E}_n^{[m-1,\alpha]}(x+y; c, a; \lambda) \\ &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \mathfrak{E}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda) \\ & \quad \times P_k^{(\kappa,\beta)}(1-2x). \end{aligned} \tag{34}$$

$$\begin{aligned} & \mathfrak{G}_n^{[m-1,\alpha]}(x+y; c, a; \lambda) \\ &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \mathfrak{G}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda) \\ & \quad \times P_k^{(\kappa,\beta)}(1-2x). \end{aligned} \tag{35}$$

Remark 4. The substitution $a = 1, c = e$ into (33)–(35) yields the identities

$$\begin{aligned} \mathfrak{B}_n^{[m-1,\alpha]}(x+y; \lambda) &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \\ & \quad \times \mathfrak{B}_{n-j}^{[m-1,\alpha]}(y; \lambda) P_k^{(\kappa,\beta)}(1-2x), \end{aligned} \tag{36}$$

$$\begin{aligned} \mathfrak{E}_n^{[m-1,\alpha]}(x+y; \lambda) &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \\ & \quad \times \mathfrak{E}_{n-j}^{[m-1,\alpha]}(y; \lambda) P_k^{(\kappa,\beta)}(1-2x), \end{aligned} \tag{37}$$

$$\begin{aligned} \mathfrak{G}_n^{[m-1,\alpha]}(x+y; \lambda) &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \\ & \quad \times \mathfrak{G}_{n-j}^{[m-1,\alpha]}(y; \lambda) P_k^{(\kappa,\beta)}(1-2x). \end{aligned} \tag{38}$$

Notice that (37) corresponds to [9, Equation (4.7)]. If $\alpha = 1$ in (36), then we have

$$\begin{aligned} B_n^{[m-1]}(x+y; \lambda) &= \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! \binom{j+\kappa}{j-k} \binom{n}{j} \frac{(1+\kappa+\beta+2k)}{(1+\kappa+\beta+k)_{j+1}} \\ & \quad B_{n-j}^{[m-1]}(y; \lambda) P_k^{(\kappa,\beta)}(1-2x). \end{aligned}$$

Theorem 3. For $m \in \mathbb{N}$, the generalized Apostol-type polynomials of level m $\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$, are related with the generalized Bernoulli polynomials

of level m $B_n^{[m-1]}(x)$, by means of the following identity.

$$\begin{aligned} \mathcal{Q}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!(\ln c)^j}{(k+m)!} \binom{n}{j} \binom{j}{k} \\ &\times \mathcal{Q}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) B_{j-k}^{[m-1]}(x). \end{aligned} \tag{39}$$

Proof. By substituting (9) into the right-hand side of (24), it suffices to follow the proof given in Theorem 2, making the corresponding modifications (see also, [9, Theorem 4.6]). \square

Consequently, taking into account the relations (15)–(16) and making the corresponding modifications in (39), we get

Corollary 3. *For $m \in \mathbb{N}$, the generalized Apostol–Bernoulli polynomials, Apostol–Euler polynomials and Apostol–Genocchi polynomials of level m are related with the generalized Bernoulli polynomials of level m polynomials by means of the following identities.*

$$\begin{aligned} \mathfrak{B}_n^{[m-1,\alpha]}(x+y; c, a; \lambda) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!(\ln c)^j}{(k+m)!} \binom{n}{j} \binom{j}{k} \\ &\mathfrak{B}_{n-j}^{[m-1,\mu]}(y; c, a; \lambda) B_{j-k}^{[m-1]}(x). \end{aligned} \tag{40}$$

$$\begin{aligned} \mathfrak{E}_n^{[m-1,\alpha]}(x+y; c, a; \lambda) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!(\ln c)^j}{(k+m)!} \binom{n}{j} \binom{j}{k} \\ &\mathfrak{E}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda) B_{j-k}^{[m-1]}(x). \end{aligned} \tag{41}$$

$$\begin{aligned} \mathfrak{G}_n^{[m-1,\alpha]}(x+y; c, a; \lambda) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!(\ln c)^j}{(k+m)!} \binom{n}{j} \binom{j}{k} \\ &\mathfrak{G}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda) B_{j-k}^{[m-1]}(x). \end{aligned} \tag{42}$$

Remark 5. The substitution $a = 1, c = e$ into (40)–(42) yields the identities

$$\begin{aligned} \mathfrak{B}_n^{[m-1,\alpha]}(x+y; \lambda) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!}{(k+m)!} \binom{n}{j} \binom{j}{k} \mathfrak{B}_{n-j}^{[m-1,\mu]}(y; \lambda) B_{j-k}^{[m-1]}(x), \\ \mathfrak{B}_n^{[m-1,\alpha]}(x+y; \lambda) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!}{(k+m)!} \binom{n}{j} \binom{j}{k} \mathfrak{B}_{n-j}^{[m-1,\alpha]}(y; \lambda) B_{j-k}^{[m-1]}(x), \\ \mathfrak{G}_n^{[m-1,\alpha]}(x+y; \lambda) &= \sum_{k=0}^n \sum_{j=k}^n \frac{k!}{(k+m)!} \binom{n}{j} \binom{j}{k} \mathfrak{G}_{n-j}^{[m-1,\alpha]}(y; \lambda) B_{j-k}^{[m-1]}(x). \end{aligned} \tag{43}$$

Notice that (43) is just [9, Equation (4.11)].

Theorem 4. For $m \in \mathbb{N}$, the generalized Apostol-type polynomials of level m $\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$, are related with the Genocchi polynomials $G_n(x)$, by means of the following identity.

$$\begin{aligned} &\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu) \\ &= \frac{1}{2} \sum_{k=0}^n \frac{(\ln c)^k}{k+1} \left[\binom{n}{k} \mathcal{Q}_{n-k}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \right. \\ &\quad \left. + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathcal{Q}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{j-k} \right] G_{k+1}(x). \end{aligned} \tag{44}$$

Proof. We can proceed as the proof of [9, Theorem 4.1]. By substituting (10) into the right-hand side of (24), we see that

$$\begin{aligned} &\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu) \\ &= \sum_{j=0}^n \binom{n}{j} \mathcal{Q}_j^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \frac{(\ln c)^{n-j}}{2(n-j+1)} \\ &\quad \times \left[\sum_{k=0}^{n-j} \binom{n-j+1}{k+1} \binom{n-j+1}{k+1} G_{k+1}(x) + G_{n-j+1}(x) \right] \\ &= \sum_{j=0}^n \binom{n}{j} \mathcal{Q}_j^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \frac{(\ln c)^{n-j}}{2(n-j+1)} \sum_{k=0}^{n-j} \binom{n-j+1}{k+1} G_{k+1}(x) \\ &\quad + \sum_{j=0}^n \binom{n}{j} \mathcal{Q}_j^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \frac{(\ln c)^{n-j}}{2(n-j+1)} G_{n-j+1}(x). \end{aligned}$$

Then, using appropriate combinational identities and summations (see, for instance [3, 10, 12]), we obtain

$$\begin{aligned} &\mathcal{Q}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) \\ &= \frac{1}{2} \sum_{k=0}^n \frac{(\ln c)^k}{k+1} \left[\sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathcal{Q}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{j-k} \right. \\ &\quad \left. + \binom{n}{k} \mathcal{Q}_{n-k}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \right] G_{k+1}(x). \end{aligned}$$

Therefore, (44) holds. □

Again, taking into account the relations (15)–(16) and making the corresponding modifications in (44), we get

Corollary 4. For $m \in \mathbb{N}$, the generalized Apostol–Bernoulli polynomials of level m and generalized Apostol–Genocchi polynomials of level m , are related with

the Genocchi polynomials, by means of the following identities.

$$\mathfrak{B}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) = \frac{1}{2} \sum_{k=0}^n \frac{(\ln c)^k}{k+1} \left[\binom{n}{k} \mathfrak{B}_{n-k}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathfrak{B}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{j-k} \right] G_{k+1}(x). \tag{45}$$

$$\mathfrak{E}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) = \frac{1}{2} \sum_{k=0}^n \frac{(\ln c)^k}{k+1} \left[\binom{n}{k} \mathfrak{E}_{n-k}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathfrak{E}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{j-k} \right] G_{k+1}(x), \tag{46}$$

$$\mathfrak{G}_n^{[m-1,\alpha]}(x+y; c, a; \lambda; \mu; \nu) = \frac{1}{2} \sum_{k=0}^n \frac{(\ln c)^k}{k+1} \left[\binom{n}{k} \mathfrak{G}_{n-k}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathfrak{G}_{n-j}^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{j-k} \right] G_{k+1}(x). \tag{47}$$

Remark 6. The substitution $a = 1, c = e$ into (45)–(47) yields the identities

$$\begin{aligned} \mathfrak{B}_n^{[m-1,\alpha]}(x+y; \lambda; \mu; \nu) &= \frac{1}{2} \sum_{k=0}^n \frac{1}{k+1} \\ &\times \left[\binom{n}{k} \mathfrak{B}_{n-k}^{[m-1,\alpha]}(y; \lambda; \mu; \nu) + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathfrak{B}_{n-j}^{[m-1,\alpha]}(y; \lambda; \mu; \nu) \right] G_{k+1}(x), \\ \mathfrak{E}_n^{[m-1,\alpha]}(x+y; \lambda; \mu; \nu) &= \frac{1}{2} \sum_{k=0}^n \frac{1}{k+1} \\ &\times \left[\binom{n}{k} \mathfrak{E}_{n-k}^{[m-1,\alpha]}(y; \lambda; \mu; \nu) + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathfrak{E}_{n-j}^{[m-1,\alpha]}(y; \lambda; \mu; \nu) \right] G_{k+1}(x), \\ \mathfrak{G}_n^{[m-1,\alpha]}(x+y; \lambda; \mu; \nu) &= \frac{1}{2} \sum_{k=0}^n \frac{1}{k+1} \\ &\times \left[\binom{n}{k} \mathfrak{G}_{n-k}^{[m-1,\alpha]}(y; \lambda; \mu; \nu) + \sum_{j=k}^n \binom{n}{j} \binom{j}{k} \mathfrak{G}_{n-j}^{[m-1,\alpha]}(y; \lambda; \mu; \nu) \right] G_{k+1}(x). \end{aligned} \tag{48}$$

Notice that (48) is just [9, Equation (4.1)].

For the case of connection formulas involving the Apostol–Euler polynomials, we have the following result.

Theorem 5. For $m \in \mathbb{N}$, the generalized Apostol-type polynomials of level m $\mathcal{Q}_n^{[m-1,\alpha]}(x; c, a; \lambda; \mu; \nu)$, are related with the Apostol–Euler polynomials $\mathcal{E}_n(x; \lambda)$, by means of the following identity.

$$\begin{aligned} &\mathcal{Q}_n^{[m-1,\alpha]}(x + y; c, a; \lambda; \mu; \nu) \\ &= \frac{1}{2} \sum_{j=0}^n \binom{n}{j} [\lambda \mathcal{Q}_n^{[m-1,\alpha]}(y + 1; c, a; \lambda; \mu; \nu) + (\ln c)^j \mathcal{Q}_n^{[m-1,\alpha]} \\ &\quad \times (y; c, a; \lambda; \mu; \nu)] \mathcal{E}_{n-j}(x; \lambda). \end{aligned} \tag{49}$$

Proof. By substituting (11) into the right-hand side of (24), we can see that

$$\begin{aligned} &\mathcal{Q}_n^{[m-1,\alpha]}(x + y; c, a; \lambda; \mu; \nu) \\ &= \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_k^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{n-k} \left(\frac{1}{2}\right) \\ &\quad \times \left[\lambda \sum_{j=0}^{n-k} \binom{n-k}{j} \mathcal{E}_j(x; \lambda) + \mathcal{E}_{n-k}(x; \lambda) \right] \\ &= \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_k^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{n-k} \left(\frac{\lambda}{2}\right) \sum_{j=0}^{n-k} \binom{n-k}{j} \mathcal{E}_j(x; \lambda) \\ &\quad + \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_k^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{n-k} \left(\frac{1}{2}\right) \mathcal{E}_{n-k}(x; \lambda). \end{aligned} \tag{50}$$

Upon inverting the order of summation and using the following elementary binomial coefficient identities (see [12, Equations (5.4) and (5.21)]):

$$\begin{aligned} \binom{n}{k} &= \binom{n}{n-k}, \quad k, n \in \mathbb{N}_0, \\ \binom{r}{m} \binom{m}{k} &= \binom{r}{k} \binom{r-k}{m-k}, \quad k, m, r \in \mathbb{N}_0, \end{aligned}$$

the first sum in (50) becomes

$$\begin{aligned} &\sum_{k=0}^n \binom{n}{k} \mathcal{Q}_k^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{n-k} \left(\frac{\lambda}{2}\right) \sum_{j=0}^{n-k} \binom{n-k}{j} \mathcal{E}_j(x; \lambda) \\ &= \sum_{k=0}^n \sum_{j=0}^{n-k} \binom{n}{k} (\ln c)^{n-k} \left(\frac{\lambda}{2}\right) \binom{n-k}{j} \mathcal{Q}_k^{[m-1,\alpha]}(y; c, a; \lambda; \mu; \nu) \mathcal{E}_j(x; \lambda) \end{aligned}$$

$$\begin{aligned}
 &= \sum_{j=0}^n \left(\frac{\lambda}{2}\right) \binom{n}{j} \mathcal{E}_j(x; \lambda) \sum_{k=0}^{n-j} \binom{n-j}{k} \mathcal{Q}_k^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{n-k} \\
 &= \sum_{j=0}^n \left(\frac{\lambda}{2}\right) \binom{n}{j} \mathcal{E}_j(x; \lambda) \mathcal{Q}_{n-j}^{[m-1, \alpha]}(y+1; c, a; \lambda; \mu; \nu). \tag{51}
 \end{aligned}$$

For the second sum in (50), we obtain

$$\begin{aligned}
 &\sum_{k=0}^n \binom{n}{k} \mathcal{Q}_k^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^{n-k} \left(\frac{1}{2}\right) \mathcal{E}_{n-k}(x; \lambda) \\
 &= \frac{1}{2} \sum_{k=0}^n \binom{n}{k} \mathcal{Q}_{n-k}^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^k \mathcal{E}_k(x; \lambda). \tag{52}
 \end{aligned}$$

Combining (51) and (52) we get

$$\begin{aligned}
 &\mathcal{Q}_n^{[m-1, \alpha]}(x+y; c, a; \lambda; \mu; \nu) \\
 &= \left(\frac{\lambda}{2}\right) \sum_{j=0}^n \binom{n}{j} \mathcal{E}_j(x; \lambda) \mathcal{Q}_{n-j}^{[m-1, \alpha]}(y+1; c, a; \lambda; \mu; \nu) \\
 &\quad + \frac{1}{2} \sum_{j=0}^n \binom{n}{j} \mathcal{Q}_{n-j}^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu) (\ln c)^j \mathcal{E}_j(x; \lambda) \\
 &= \frac{1}{2} \sum_{j=0}^n \binom{n}{j} [\lambda \mathcal{Q}_n^{[m-1, \alpha]}(y+1; c, a; \lambda; \mu; \nu) + (\ln c)^j \\
 &\quad \times \mathcal{Q}_n^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu)] \mathcal{E}_{n-j}(x; \lambda).
 \end{aligned}$$

Therefore, (49) holds. □

Finally, as a consequence of Theorem 5 we get

Corollary 5. *For $m \in \mathbb{N}$, the generalized Apostol–Bernoulli polynomials of level m and generalized Apostol–Genocchi polynomials of level m , are related with the Apostol–Euler polynomials, by means of the following identities.*

$$\begin{aligned}
 \mathfrak{B}_n^{[m-1, \alpha]}(x+y; c, a; \lambda; \mu; \nu) &= \frac{1}{2} \sum_{j=0}^n \binom{n}{j} [\lambda \mathfrak{B}_n^{[m-1, \alpha]}(y+1; c, a; \lambda; \mu; \nu) \\
 &\quad + (\ln c)^j \mathfrak{B}_n^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu)] \mathcal{E}_{n-j}(x; \lambda), \\
 \mathfrak{G}_n^{[m-1, \alpha]}(x+y; c, a; \lambda; \mu; \nu) &= \frac{1}{2} \sum_{j=0}^n \binom{n}{j} [\lambda \mathfrak{G}_n^{[m-1, \alpha]}(y+1; c, a; \lambda; \mu; \nu) \\
 &\quad + (\ln c)^j \mathfrak{G}_n^{[m-1, \alpha]}(y; c, a; \lambda; \mu; \nu)] \mathcal{E}_{n-j}(x; \lambda).
 \end{aligned}$$

References

- [1] Apostol, T.: On the Lerch Zeta function. *Pac. J. Math.* **1**, 161–167 (1951)
- [2] Apostol, T.: *Introduction to Analytic Number Theory*. Springer, New York (1976)
- [3] Askey, R.: *Orthogonal Polynomials and Special Functions*. Regional Conference Series in Applied Mathematics. J. W. Arrowsmith Ltd., Bristol (1975)
- [4] Bayada, A., Simsek, Y., Srivastava, H.M.: Some array type polynomials associated with special numbers and polynomials. *Appl. Math. Comput.* **244**, 149–157 (2014)
- [5] Boyadzhiev, K.N.: Apostol–Bernoulli functions, derivative polynomials and Eulerian polynomials. *Adv. Appl. Discret. Math.* **1**(2), 109–122 (2008)
- [6] Boyadzhiev, K.N.: Exponential polynomials, Stirling numbers, and evaluation of some Gamma integrals. [arXiv:0909.0979v4](https://arxiv.org/abs/0909.0979v4) [math.CA]
- [7] Bretti, G., Ricci, P.E.: Multidimensional extensions of the Bernoulli and Appell polynomials. *Taiwan. J. Math.* **8**(3), 415–428 (2004)
- [8] Bretti, G., Natalini, P., Ricci, P.E.: Generalizations of the Bernoulli and Appell polynomials. *Abstr. Appl. Anal.* **7**, 613–623 (2004)
- [9] Chen, S., Cai, Y., Luo, Q.-M.: An extension of generalized Apostol–Euler polynomials. *Adv. Differ. Equ.* **2013**, 61 (2013)
- [10] Comtet, L.: *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, Reidel, Dordrecht and Boston (1974). (Translated from French by Nienhuys, J.W.)
- [11] Erdélyi, A., Magnus, W., Oberhettinger, F., Tricomi, F.: *Higher Transcendental Functions*, vol. 13. McGraw Hill, New York (1953)
- [12] Graham, R.L., Knuth, D.E., Patashnik, O.: *Concrete Mathematics*. Addison-Wesley Publishing Company, Inc., New York (1994)
- [13] He, Y., Wang, C.: Recurrence formulae for Apostol–Bernoulli and Apostol–Euler polynomials. *Adv. Differ. Equ.* **2012**, 2009 (2012)
- [14] Hu, S., Daeyeoul Kim, D., Kim, M.-S.: New identities involving Bernoulli, Euler and Genocchi numbers. *Adv. Differ. Equ.* **2013**, 74 (2013)
- [15] Kim, D.S., Kim, T., Dolgy, D.V., Rim, S.-H.: Higher-order Bernoulli, Euler and Hermite polynomials. *Adv. Differ. Equ.* **2013**, 103 (2013)
- [16] Kurt, B.: A further generalization of the Bernoulli polynomials and on the 2D-Bernoulli polynomials $B_n^2(x, y)$. *Appl. Math. Sci. (Ruse)* **4**(47), 2315–2322 (2010)
- [17] Kurt, B.: A further generalization of the Euler polynomials and on the 2D-Euler polynomials. *Proc. Jangeon Math. Soc.* **15**, 389–394 (2012)
- [18] Kurt, B.: Some relationships between the generalized Apostol–Bernoulli and Apostol–Euler polynomials. *Turk. J. Anal. Number Theory* **1**(1), 54–58 (2013)
- [19] Kurt, B., Simsek, Y.: On the generalized Apostol-type Frobenius–Euler polynomials. *Adv. Differ. Equ.* **2013**, 1 (2013)
- [20] Liu, H., Wang, W.: Some identities on the Bernoulli, Euler and Genocchi polynomials via power sums and alternate power sums. *Discret. Math.* **309**, 3346–3363 (2009)

- [21] Lu, D.-Q., Luo, Q.-M.: Some properties of the generalized Apostol-type polynomials. *Bound. Value Probl.* **2013**, 64 (2013)
- [22] Lu, D.-Q., Xian, C.-H., Luo, Q.-M.: Some results for the Apostol-type polynomials associated with umbral algebra. *Adv. Differ. Equ.* **2013**, 201 (2013)
- [23] Luo, Q.-M.: Apostol–Euler polynomials of higher order and Gaussian hypergeometric functions. *Taiwan J. Math.* **10**(4), 917–925 (2006)
- [24] Luo, Q.-M.: Extensions of the Genocchi polynomials and its Fourier expansions and integral representations. *Osaka J. Math.* **48**, 291–309 (2011)
- [25] Luo, Q.-M., Srivastava, H.M.: Some generalizations of the Apostol–Bernoulli and Apostol–Euler polynomials. *J. Math. Anal. Appl.* **308**(1), 290–302 (2005)
- [26] Luo, Q.-M., Srivastava, H.M.: Some relationships between the Apostol–Bernoulli and Apostol–Euler polynomials. *Comput. Math. Appl.* **51**, 631–642 (2006)
- [27] Luo, Q.-M., Srivastava, H.M.: Some generalizations of the Apostol–Genocchi polynomials and the Stirling numbers of the second kind. *Appl. Math. Comput.* **217**, 5702–5728 (2011)
- [28] Natalini, P., Bernardini, A.: A generalization of the Bernoulli polynomials. *J. Appl. Math.* **2003**(3), 155–163 (2003)
- [29] Navas, L.M., Ruiz, F.J., Varona, J.L.: Asymptotic estimates for Apostol–Bernoulli and Apostol–Euler polynomials. *Math. Comput.* **81**(279), 1707–1722 (2012)
- [30] Ozden, H., Simsek, Y., Srivastava, H.M.: A unified presentation of the generating functions of the generalized Bernoulli, Euler and Genocchi polynomials. *Comput. Math. Appl.* **60**, 2779–2787 (2010)
- [31] Özarslan, M.A.: Hermite-based unified Apostol–Bernoulli Euler and Genocchi polynomials. *Adv. Differ. Equ.* **2013**, 116 (2013)
- [32] Pintér, Á., Tengely, S.: The Korteweg–de Vries equation and a diophantine problem related to Bernoulli polynomials. *Adv. Differ. Equ.* **2013**, 245 (2013)
- [33] Rainville, E.D.: *Special Functions*. Macmillan Company, New York (1960). Reprinted by Chelsea Publishing Company, Bronx (1971)
- [34] Srivastava, H.M., Garg, M., Choudhary, S.: A new generalization of the Bernoulli and related polynomials. *Russ. J. Math. Phys.* **17**, 251–261 (2010)
- [35] Srivastava, H.M., Garg, M., Choudhary, S.: Some new families of generalized Euler and Genocchi polynomials. *Taiwan. J. Math.* **15**(1), 283–305 (2011)
- [36] Srivastava, H.M., Todorov, P.G.: An explicit formula for the generalized Bernoulli polynomials. *J. Math. Anal. Appl.* **130**, 509–513 (1988)
- [37] Srivastava, H.M., Choi, J.: *Series Associated with the Zeta and Related Functions*. Kluwer Academic, Dordrecht (2001)
- [38] Szegő, G.: *Orthogonal Polynomials*. American Mathematical Society, Providence (1939)
- [39] Todorov, P.G.: On the theory of the Bernoulli polynomials and numbers. *J. Math. Anal. Appl.* **104**, 309–350 (1984)
- [40] Todorov, P.G.: Une formule simple explicite des nombres de Bernoulli généralisés. *C. R. Acad. Sci. Paris Sér. I Math.* **301**, 665–666 (1985)

- [41] Tremblay, R., Gaboury, S., Fugère, B.-J.: A new class of generalized Apostol–Bernoulli and some analogues of the Srivastava–Pintér addition theorem. *Appl. Math. Lett.* **24**, 1888–1893 (2011)
- [42] Tremblay, R., Gaboury, S., Fugère, B.-J.: A further generalization of Apostol–Bernoulli polynomials and related polynomials. *Honam Math. J.* 311–326 (2012)
- [43] Tremblay, R., Gaboury, S., Fugère, B.-J.: Some new classes of generalized Apostol–Euler and Apostol–Genocchi polynomials. *Int. J. Math. Math. Sci.* **2012**, Article ID 182785 (2012)
- [44] Wang, W., Jia, C., Wang, T.: Some results on the Apostol–Bernoulli and Apostol–Euler polynomials. *Comput. Math. Appl.* **55**, 1322–1332 (2008)
- [45] Whittaker, E.T., Watson, G.N.: *Modern Analysis*. University Press, Cambridge (1945)

Pedro Hernández-Llanos and Alejandro Urieles
Programa de Matemáticas
Universidad del Atlántico
Km 7 Vía Pto. Colombia
Barranquilla, Colombia
e-mail: pfernandezllanos@mail.uniatlantico.edu.co;
aurielesg@gmail.com

Yamilet Quintana and Alejandro Urieles
Departamento de Matemáticas Puras y Aplicadas
Edificio Matemáticas y Sistemas (MYS)
Universidad Simón Bolívar
Apartado Postal: 89000, Caracas 1080 A
Venezuela
e-mail: yquintana@usb.ve

Received: August 23, 2014.

Accepted: December 21, 2014.